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And prx3s "1 said; there was one city in >''X etc.

OVERVIEW
From the X7n3 it appears that in order to refute 7127, we need the testimony of
P> 7 that the two N7 were 1n °"X. Moo challenges that assumption.
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Without the testimony of prx> ', who testified that these two N7 were

1n °"X, it is also conclusive that these two N1’ 177 were in v''N -
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For were they to be in "', then even within the same N 137 there
would be a requirement to say 1"93, according to 739 since they are not

72 in the laws of 1w, If the n11nxT were in 9", why does 3"2w state that from
X°11M377 to X113 one is required to say 1"93; according to 727 even within the same X*1737
one is required to say 1"93, since they are not 7nw? PR°p2. Therefore, we must say that
according to 727 the 77 of two N1 1MAT are in *"X.

SUMMARY

We do not need the testimony of prx> "I to prove that the two N 1137 were in
»"R. Rather it is self understood according to 727. For if they are in 5"y why
is the requirement for 1"52 only X°21137% X132 it should be even in the
same X°1%71, since in 2" the people are nwH PROPA PR.

THINKING IT OVER
1. Where would there be a greater difficulty for 7127; if the two N1 1T were
both in "X or both in 2"?

2. What is the opinion of 727 if a 7w brings a v in "1 from one place to
another, in the same city?"!

' See "n1°8 11"72,27"w.
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